R#ETFAN & EE# o1

1. 100 REOARBDELAZ U LT2. ROfizkd k. (SHh1530F, Afk2410%, B3 o, C#k4sr)
A={n|nld20t5%, neU}
{B{nnu3®%ﬁ,nEU}
C={n|n35DE%, n€eU}
n(A) L1, £H5 A BT 200 ERT.

(1) n(A) (2  n(A)
(3)  n(ANDB) (4)  n(AUDB)
(65) nANBNC) 6) n(AUBUDCOQ)
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2. 200UTOHAEDEEGZU T2 XOfizRko k. (SH1740%, Ak2520%, B#37520%, Cikdir30%)
A={n|nld3Dt5%, neU}
B={n|n350%, neU}
C={n|nB370%, neU}
n(A) &3, £ ABT 2o EE£T.

(1) n(A) 2 n(4)
(3)  n(ANB) (4)  n(AUB)
(5)  n(ANBNC) 6) n(AUBUDCQ)
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RETAMN £& E#H 01 REHES

1. 100 KD HARBROELZ U LT2. ROz kD K. (SHhk15730%, Afk2510%, Bf345, CHlds)
A={n|nld20fF8, n€U}
B={n|nlZ3Df5%, n€U}
C={n|n350E%, neU}
n(A) L, £H5 A BT 20008z £ T

(1) n(A) (2  n(A)
99=2x49+1 =n(U) —n(A)
T on(A)=49 X =99 — 49
=50 gi
(3)  n(ANB) (4)  n(AUB)
ANB={n|nd6nfif, n€eU} n(B) =99 +3 =133
99 =6 x 16 + 3 * i
n(ANB)=16 -&ZX n(A U B) =n(A) +n(B) —n(A N B)
=49 + 33 — 16
=66 EX
(5) nANBNCQO) 6) n(AUBUDCQ)
ANBNC={n|nlx300%, n€U} 9=5x194+4 = n(C)=19
9=15x6+9 = nBNC)=
99=30x3+9 9=10x9+9 = n(CNA=

nfANBNC)=3 &Z
R A
n(AU B U C)=n(A)+n(B)+n(C)
—n(ANB)—n(BNC)—n(CNA)
+n(ANBNC)
=49+33+19-16-6—-94+3=73

nAUBUC)=nU)-n(AUBU Q)

=99 —73
=26 &EZX
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2. 200U TOHARBOEAZU LT5. ROfzkd L. (SH1575408, Afh2520%, B#H35208, C #4445 30%)
A={n|nld3Dt5%, neU}
B={n|nld5DfE%, neU}
C={n|nB370%, neU}
n(A) &3, £ ABT 2o EE£T.

(1) n(A) (2 n(A)
200 = 3 x 66 + 2 =n(U) —n(A)
n(A) =66 -EZ =200 — 66
=134 -&EZX
(3)  n(ANDB) (4)  n(AUDB)
ANB={n|nld150f8, n€U} n(B) =200 =+ 5 = 40
200 =15 x 13 +5 * AR
n(ANB)=13 -&Z n(A U B) =n(A) +n(B) —n(A N B)
=66 +40 — 13
=93 -&X
(5)  n(ANBNC) 6) n(AUBUOQO)
ANBNC={n|nix105DfE%, n€U} 200=7x28+2 = n(C)=28
200=35x5+25 = n(BNC)=5
200 = 105 x 1+ 95 200=21x9+11 = n(CNA=9
— S

n(AU B U C)=n(A)+n(B)+n(C)
—n(ANB)—n(BNC)—n(CN A
+n(ANBNC)
=66+40+28-13-5—-9+4+1=108

nAUBUC)=nU)-n(AU BU Q)

=200 — 108
=92 &EZX
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